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Across-Downs
Why can 't you tell a joke on ice? Because the ice will crack-up!

Solve the equations across and down.

1. 43 – 17 – 13 =

– – – –

11 – 2 – 1 =

– – – –

17 – 9 – 5 =

= = = =

– – =

2. 46 – 15 – 14 =

– – – –

17 – 4 – 6 =

– – – –

21 – 7 – 7 =

= = = =

– – =

3. 36 – 21 – 7 =

– – – –

9 – 6 – 1 =

– – – –

11 – 5 – 3 =

= = = =

– – =

4. 50 – 21 – 13 =

– – – –

18 – 6 – 6 =

– – – –

16 – 8 – 2 =

= = = =

– – =

5. 39 – 10 – 16 =

– – – –

6 – 1 – 3 =

– – – –

14 – 3 – 8 =

= = = =

– – =

6. 48 – 15 – 14 =

– – – –

19 – 7 – 3 =

– – – –

10 – 6 – 3 =

= = = =

– – =


